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R Ea R ' Marks : 50
I Tlme : 1.30 Hrs' . ;

"I Choose the correct answer. i i . WA —2
The only even prlme number IS eonniniiiiin g R
s G ol e W0 g

2 The number 87846 is d|v15|ble bY R |
a) 2 only e . b) 3 only ‘ b ‘
.'c) 11 only ,df all of these e "‘3 1 i
RS I '9m 4cm is equal to WL _ '_‘- i "
% a) 94 cm i A b’{904 Criy " g W
' c)94cm b ) 0194 e s
4. 3 weeks ..... ........ Sidays e MR L g b
Q1 iR RY 7 e S d) 28 g

) 5. 'Dlscount is subtracted from toget Selling

k. P%Ce _ '\ | , L
a) M.P. S SR o ) C.,P‘ it L C)LOSS Vi d) Prof"t :

7E R ‘_.Fllllntheblanks R L Vg 5x1_5
6. The number of prlme numbers between 11 and 60 is \?w b
' 7.. The HCF of 45 and 75 ISttt 1 v
8. 500 Kg divided by 100 g = S-QC".‘?OCJ ...... i
9. " Discount = M. ST P 5;0 .......... R N :
10. The least number that should be added to 57,s0 that the sum |s
~ exactly divisible by 2,3, 4and 5is 5 ........ . 2 G
CIII. Saytrueorfalse | b L 5X 1= B

11. The numbers 57 and 69 are co-primes. f""
12, If a number is divisible by 6, then it must be dnv:s:ble by 3, %

13. Meena bought 250ml of buttermtlk WhICh is equal to 2.5 itre. i
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14,
15.

16.
2 A

18.
19.

20.
el.

92;

23.

24.

25
26.

‘i) 3.15a.m © i) 12.35 p.m.

. R . :
There is no profit or loss when C.P = S.P.”]
1700 years is a leap year. r; _
Answer any 5 questions. | | 5X2=10
Find the prime factorlsatlon by factor tree method : 36. ,
The LCM of two numbers is 432 and their HCF is 36. If one of the -
number |s 108 then find the other number.
The official distance of Marathon Race is.42.195km. Express this
distance in metre. ‘

Convert the followmg in to-24 hour format

}
Convert 480 days into years. Q

Valarmathl sold her pearl set for Rs. 30 000 at prof"t of Rs
=) 000. Find the cost prlce of the pearl set.

Add 6m40cm + 3 m 80cm. : b

Answer any 4 questnons ? AN 4X5=20

What is the greatest possible volume of a vessel that can be used
to measure exactly the volume of milk in cans. (m full capacity) of
80 liters, 100 liters, 120 Ilters? ,_ : :
Find the dates of any month in a calendar WhICh are dlwsble by
both 2 and 3. - T

_Find the LCM‘and HCF of 18,24 and 30

A child neecs 1009 of vegetables per day. How many kg of

- vegetables will ‘be needed for a school of strength 90.
27.

Ravi buys a chair for Rs. 3,000. He wants to sell it at a profit of Rs
500, After maklng a discount of Rs. 300 What is the M.P of the
chalr :

Answerthefollong questlons A SR 1 X5=>5

. Draw a line segment AB = 7cm and mark a point P on it. Draw aline
' perpendicular to the given line segment at P.

(OR)

- Draw a line segment LM = 6.5cm and take a point P not lying on It

Using set square construct a line perpendicular-to LM through P.
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